2)

Identify the type of word

"I'm frightened," she said nervously
A. Preposition

B. Adjective

C. Verb

D. Adverb

Choose the correct sentence.
A. The costs of all necessaries has gone up.

. B. The cost ofall necessaries has gone up.

3)

4)

,5)

6)

7)

C. The cost of all necessaries have gone up.
D. The costsof all necessaries have wentup.

Complete the sentence with the correct alternative.

Sheis__ welltoday.
A. no

B. not

C. none

D. nought

Choose the correct indirect from of given sentence.

She said, “Don't tease my dog."”

A. Shesaid that don't tease her dog.

B. Shesaidnot to tease my dog.

C. Shewamed them not to tease herdog.

D. Sheenquiredifthey were not teasing her dog.

Giveantonym of : 'Attack’
A. Counterattack

B. Defend

C. Tofight

D. Reattack

Select one word for the following phrase :
Aperson who believes in the existence of God.
A. Theist

B. Atheist
C. Septic
D. Fanatic

Choose the correct meaning of the given idiom:
Abolt from the blue -

something unexpected

an event happening rarely or never

an obscene or pornographic film

tobe in state of being sad or miserable

o0owy

8)

9)

10)

11)

12)

13)

14)

15)

'Snail Mail' means

A. mail that takes very long time to reach it’s
destination.

B. spam mail

C. virus that hacks the information

D. none ofthese

Select the correct spelling from the following
A. Humorous

B. Hummorus

C. Humorus

D. Humrous

Meaning of "Chicken Feed".
A. Averysmallmoney
B. Ahugemoney

_C. Food for thought

D. Noneofthese

Synonym of Abrogate
A. Create

B. Run

C. Fascinate

D. Abolish

Choose the word spelt correctly.
A. Criticice
B. Criticael
C. Criticise
D. Criticese
Heistrue his words.
with

on

to

for

gaow>

You can pick oftwo.
A.many &
B.more

C.either

D.some

sunisaboutto set.

A. A
B. An

C. The
D. Alittle

Set - A (Pharmacy Officer)
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16) @ielies FTaTde TEIaRIeor SRifAoR faems
B
A.?bga;m%
"B. cElferer gy
C. MY BUS
D. I6a 41

17) "2MAORTEA U 34T B3, TR THT T
31 feTed T8 A1 qrte W g B
S UL ARTS ATHR VI HITo} Tet?

A. S EAIEE ST ST
B. fameuqios syari s

C. ~GIcaIEe SHATA! 3y
D. HdhaaiEd SHATGA 3

18) WY AT e,
A. e TS TR AT TV T e
B. 1% e T TR b1 A el
EEICCE
C. BB e Fe, FaT .
D. BI% IS Wil HRaAd HRY HaTar

19) TSI FaBi®! EifaR™ g e,

A?
B. !
C.

. D.

>

20) YIS =l <] 4 fRmfas fFaet -
AT HATT STUTE 1] .

A,
" B..
#C 7

!
/D..

Set - A (Pharmacy Officer)

23) ZBOO! O IR HS' TT IEHYEIAS!
TS IGUD ARG ITes FasT,
A. BT
B. feramoft
C. 3T

D. quq&T

24) WTchIes ATERATd AT 3G AT ATIR ],
IRET] AT BT ST AT

DT AT T+ 7 ATeTal.
A XId
B.

C. g
D. IrHT TR

25) '3MeT 7Tt fovr e,

A. gfegm 4
B. SHifesT

C. Y fe
D. U1 TE!
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"(‘j) mg ............................. 3]) B.E’H'K‘N‘??
A, TERIR AT AT, g. STS
B, TS AT MR AT, B O/
C. ﬁvmmwmmsm‘gwm. D. P.R
AN
D. e 32) Picktheodd one
A. Teacher
27) iy e e EEIDR ~B. Parent
A, 21 fpFaTes THA A, : ~ C. School
. D. Student
B. mﬁammﬁm.
| C, EJIEHIIEHES EERISCRE B “él' 33) Rahul ranks seventeenth from the top and fifty-

‘D Wmamma—:ﬁﬁ TPR ninth from the bottom in a class. How many

students are there in the class?

SIESIRE] A. 62
_ "B. 57
28) TS ol Wﬁﬁ GRIRE BT q O, T3
m_ D. 75
A. HI0 '
34) Six persons H, I, J, K, L and M are standing in a
_B. '”E{Iuasl ' circle. I is between M and J,His between L and K.
C. TTOTATGO _ ~ Mistheleftof K. Whoisbetween Hand M?
A. K
D. "IV =
~C. L
29) "ITAATAIG TRT TSeiiey AT fAemriles Breo > 7
el
-~ A. AT 9fITFHIe 35) Ramesh is younger than Suresh by 9 years. If their
ages are in the Tespective ratio of 7:9, how old is
B. SHUi SRS EAE
Ramesh?
C. Tﬂfw‘a A. 31.5years
D. WIS HiITgamTs B. 33.5years
C. 24.5years
30) fofl=oIHg 2 D. 36.5years
A. foyaor o fosd 36) X and Y are a married couple and A and B are the
B. WRquI =gt fosdi brothers. A is the brother of X. How is B related to
Y? -
C. YT Sf HTT Tl e foyd wureTa A, Sikirsine]
. . Sister-in-law
D. U =1 GuriH! f@mr st AT fs® . B. Son-in-law
LRI — C. Brother-in-law
D. Brother
5 Set - A (Pharmacy Officer)
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37) Ram and Shyam are brothers. Ritu and Nita are

sisters. Ram's son is Nita's brother. How is Shyam
related to Rity ?

A. Uncle

B. Brother

C. Father

D. Friend

38) Starting from a point 'P', Sohan walked 20 metres

towards South. He turned left and walked 30
metres. He then tumed left and walked 20 metres.
He again turned left and walked 40 metres and
reached a point. How far and in which direction is
the point Q from the point P?

42)

43)

Amol is an inspection incharge rejects 0.08% of the
items as defective. How many will he examine to

reject4?

~A. 3200

B. 5000
C. 4000
D. 4500

The total population of Varud village in Kolhapur
district of Maharashtra is 5000. The number of
males and females increases by 10% and 15%
respectively and consequently the population of
the village becomes 5700. What was the number of

males in the village?

<~A. 10m., West
B. 10m., East %

A. 2000
e ) v B. 2500

2
g. ;gnl-g\EveSt E;;:/jzﬂ C. 1000
n EURLERSE s D. 3000
3 the 3 i i ; g
) Itf h: "rd d'ay Of_; Eml;]thflii_llwsnd?:’ Wl;]Ch mf]e] (_)f 44) Salaries of Rohan and Nishant are in the ratio 2 : 3.
e :)h owing it be the it day from 21st of this If the salary of each is increased by Rs.5000. the
mon new ratio becomes 40 : 57. What is Nishant'
A. Monday
salary?
B. Tuesday
: A. Rs.48,000
-C. Wednesday
) B. Rs.42,000
D. Friday
C. Rs.46,000
40) 1 45 9 D. Rs.47,500
29 30 64
70 25 5 45) A man purchase five oranges for Rs.4 and sold
A3 them at the rate of 4 oranges for Rs.5, The profitis
B. 21 A. 30.25%
C. 11 B. 40%
D. Noneofthese C. 44.25%
D. 56.25% .
41) Thecostof5 chairs and 3 tables is Rs.3110. Cost of -
1 chair is Rs.210 less than the cost of 1 table, What ~ 46) The religious literature of the Jains at'the early

is the cost of 2 tables and 2 chairs. stage was written in

A. Rs.1660 A. Ardhamagadhi
B. Rs.1860 B. Pali
C. Rs.2600 C. Sanskrit

D. Cannotbe determined
i D. None ofthese

Set - A (Pharmacy Officer)
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_ o

ng layers of atmosphere 53) ... is the hottest planet in the solar

ollowi
rrange the fo
A ace of the Earth system:

vertically from the surf

1) Mesosphere g glcr:;”ry
2) Troposphere - C. Mars
3) Stratosphere D. Venus
4) Thermosphere . ‘
Sclccuhccorrcctanswcrusmg the sequence given  54) Which of following river originates at
below: Trimbakeshwar?
A, 1234 _ A. Godavari
‘ 3.4 B. Kaveri
I B. 2-I- C. Krishna
1 C. 2-3-14 D. Mahanadi
! D. 3-4-2-1
' 55) The Musiand Bhima are tributaries of the river -
48) Which one among the following cities never get A. Mahanadi
(he vertical rays of the Sun through out the year B. Krishna
i A. Chennai C. Kaveri
B. Mumbai . D. Brahmaputra
& Kélkata . 56) Cloud burst'means
D. Srinagar A. Sowingofseceds ofa crop in cloudy weather

B. Formation of artificial rain

49) Who constructed Sanchi Stupa ? C. Abnormally heavy downpour of rain,
A. Chandragupta associated with a thunderstorm
B. Kautilya D. Presence of scattered flakes of cloud in the sky
G t .
5 .(A}alu 1‘“ Buddha 57) Indiais separated from Sri Lanka by ---------
- SO A. Palk Strait
B. 90 channel
50) Soil erosion can be prevented by C. 100channel

A. Increasing bird population D. Dover Strait

B. Afforestation T .
58) Which s the official language of Maharashtra?

C. R ' i
emoval-of vegetation A. Marathi
D. Overgrazing B. Sanskrit
,, C. Gondi
51) Ashtapradhana was the official council of — ’ D. Konkani
A. Harihar-1

B. Krishnadeva Raya 59) Who was the first Peshwa of the Maratha Empire?
A. Balaji Vishwanath

C. Shivaji j
= ‘Vf‘:l”\’l'?ham.l B. Raghunath—Rao
. Balaji Baji Rao C. Mahadev-Raol
D. Moropant Trimbak Pingle

52) Sarva Siksha Abhiyan is aimed at the education of

which of the following — 60) The Nagpur city is also known as the — city of
A. Engineering and technical education | India
B. Education of girls upto graduation level g (A)ml';ge
C. Adult Education C‘ MI;[;;O
D. Education of children between 6-14 years D. ‘Basiari
[ Set - A (Pharmacy Officer)

| S
Scanned by CamScanner



61.

62.

63.

64.

65.

Pharmacokinetics is:

A. The study of biological and therapeutic effects
ofdrugs

B. The study of absorption, distribution,
metabolism and excretion of drugs

C. The study of mechanisms of drug action

D. The study of methods of new drug
development

A hydrophilic medicinal agent has the following

property:

A. Low ability to penetrate through the cell
membrane lipids

B. Penetrate through membranes by means of
endocytosis

C. Easy permeation through the blood-brain
barrier

D. Highreabsorptioninrenal tubules

What does the term “bioavailability” mean?

A. Plasma proteinbinding degree of substance

B. Permeability through the brain-blood barrier

C. Fraction of an uncharged drug reaching the
systemic circulation following any route of
administration

D. Amount of a substance in urine relative to the

initialdoze

Which route of drug administration is most likely
to lead to the first-pass effect?

A. Sublingual

B. Oral

C. Intravenous

D. Intramuscular

Parenteral administration:

A. Cannot beused withunconsciousness patients

B. Generally results in a less accurate dosage than
oral administration

C. Usually produces a more rapid response than
oral administration

D. Istooslow for emergency use

Set - A (Pharmacy Officer)

66. The term “biotransformation” includes the

67.

68.

69.

70.

following:

A. Accumulation of substances in a fat tissue
B. Binding of substances with plasma proteins
C. Accumulation of substances ina tissue

D. Process of physicochemical and biochemical
alteration of adrug in the body

Halflife (1 %) is the time required to:

A. Change the amount of a drug in plasma by half
during elimination

B. Metabolize a halfofan introduced drug into the
active metabolite

C. Absorbahalfofanintroduced drug

D. Bind a half of an introduced drug to plasma

proteins

The substance binding to one receptor subtype as
an agonist and to another as an antagonist is called:

_ A. Competitive antagonist

B. Imreversible antagonist
C. Agonist-antagonist

D. Partial agonist

What term is used to describe a decrease in
responsiveness to a drug which develops in a few
minutes?

A. Refractoriness

B. Cumulative effect

C. Tolerance

D. Tachyphylaxis

What does the term “potentiation” mean?
A. Cumulative ability of a drug

B. Hypersensitivity toa drug

C. Fasttolerance developing

D. Intensive increase of drug effects due to their
combination

‘_—4
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7.

72.

3.

74.

9.

76.

[ndicate the local ancsthetic agent, which has g
shorter duration ofaction:

A. Lidocaine

B. Procaine

C. Bupivacainc

D. Ropivacaine

Which of the following drugs is both a muscarinic
and nicotinic blacker?

A. Atropin¢

B. Benztropine

C. Hexamethonium

D. Succinylcholine

Which of the following effects is related to direct
betal-adrenoreceptor stimulation? '

A. Broncﬁodilatiqn

B. Vasodilatation

C. Tachycardia

D. Bradycardia

Which of the following antiseizure drugs is also
effective in treating trigeminal neuralgia?

A. Primidone

B. Topiramat

C. Carbamazepine

D. Lamotrigine

Which of the following agents is an inhibitor of
aldehyde dehydrogenase?

A. Fomepizole

B. Ethanol

C. Disulfiram

D. Naltrexone

Mu () receptors are associated with:

A. Analgesia, euphoria, respiratory depression,
physical dependence

B. Spinal analgesia, mydriasis, sedation, physical

dependence

C. Dysphoria, hallucinations, respiratory and
vasomotor stimulation

D. Analgesia, euphoria, respiratory stimulation,

physical dependence

8.

79.

80,

g1.

82.

" For which of the following conditions could

aspirin be used prophylactically?

A. Noncardiogenic pulmonary edema
B. Pepticulcers

C. Thromboembolism

D. Metabolicacidosis

Which of the following antidepressants is a
selective serotonin reuptake inhibitor?

A. Phenclzine

B. Desipramine

C. Maprotiline

D. Fluoxetine

Anxiolytics are used to treat:
A. Neurosis

B. Psychosis

C. Narcolepsy

D. Bipolardisorders

Restlessness, anxiety, orthostatic hypotension,

generalized seizures, severe tremor, vivid

hallucination, and psychosis are possible

symptoms of:

A. Tolerance

B. Withdrawal

C. Drug interactions between barbiturate and
diazepam

D. Noneofthe above

Following drugs stimulate erythrogenesis
EXCEPT:

A. Irondextran

B. Vitamine B12

C. Methotrexate

D. Folicacid

The drug used as an oral anticoagulant:
A. Heparin

B. Daltreparin

C. Dicumarol

D. Enoxaparin

Set - A (Pharmacy Officer)
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83.

84,

85.

86.

87.

88.

Choose the selective blocker of beta-]
adrenoreceptors:

A. Labetalol
B. Prazosin
C. Atenolol
D. Propranolol.

All of the following statements regarding
vasodilators are true EXCEPT:

A. Hydralazine causes tachycardia '

B. Nifedipine is a dopamine receptor antagonist

C. Nitroprusside dilates both arterioles and veins
D. Minoxidil can cause hypertrichosis

Which of the following hormones is produced by

. the anterior lobe of the pituitary?

A. Thyrotropin-releasing hormone (TRH)
B. Corticotropin-releasing hormone (CRH)
-C. Growth hormone (GH) ’

D. Insulin

The following adverse effect of corticosteroids is
due to their mineralocorticoid action

A. Osteoporosis

B. Riseinblood pressure

C. Moon face

D. Increased susceptibility to infection.

Which of the following opioids is more potent than
morphine ?

" A. Pethidine

B. Fentanyl

C. Dextropropoxyphene
D. Tramadol

5-HT produces contraction of smooth muscle and
plateletaggregation via
A. 5-HTI '

B. 5-HT2

C. 5-HT3

D. 5-HT4

receptors

Set - A (Pharmacy Officer)

89.

90.

91.

92.

93.

94.

Select the drug which is neither analgesic, noy
antiinflammatroy nor uricosuric, but is highly
efficacious in acute gout

A. Prednisolone
B. Colchicine

C. Naproxen

D. Sulﬁnpyrazoné

Gold in rheumatoid arthritis

A. Can cause regression of degenerative lesions of
this disease

B. Can reduce the concentrations of rheumatoid
factor

C. Doesnot halt the progress of the disease

D. Isemployed as first line therapy

Which ofthe following is a female sex hormone?
A. Stilbesterol
B. Testosterone
C. Estrogen
D

. Benzesterol

Chloroquine is a:
A. 4-Amino Quinoline
B. Acridine

"C. Biguanide

D. Pyrimidine

Anaturaﬂy occurting carminative is:
A. Asafoetida

B. Asoka

C. Arjuna

D. Agar

" The meaning of Latin term Rx:

A. Takethou

B. whennecessary
C. send

D. Write
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96.

97.

0. The
exercised

A.

B
G
D

ppO (Drug Price Co
by central governmentin:
1985
1995
1987
1997

ntrol Order) .was 98. A chelating agent used in the case of acute iron

poisoning is:

A. Sodium phosphate
B. Dimercaprol
C. Ferroin
D

Deferoxamine

A non-drug part added to formulation to aid 99. Ocusertsare:

dilution, stability maint

known as:

A.
. Activeingredient

B
C.
D

Presensitive

Additive
Binding agent

The powerhouse of the cell is:

A.

B.
C.
D

Golgibodies
Mitochondria
Ribosomes

Nucleus

L 0
o
A S‘A

aining, taste masking etc. is A. Earpreparations

B. Nasal preparations
C. Oral preparations
D

Eye preparations

100. An example of sulfonyl urea Is:
A. Metformin
B. Tolbutamide
C. Rosiglitazone
D. Repaglinide
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